
Volume: equal to the area of the base time height: "𝑉 = (𝑎𝑟𝑒𝑎 𝑜𝑓 𝑏𝑎𝑠𝑒) × (ℎ𝑒𝑖𝑔ℎ𝑡)". 
The base must be the same as the top.

Cube
Volume

3cm

3cm

3cm

4cm

2cm

3cm

Rectangular Prism

Base

𝑉 = (𝑎𝑟𝑒𝑎 𝑜𝑓 𝑏𝑎𝑠𝑒) × (ℎ𝑒𝑖𝑔ℎ𝑡)
𝑉 = (𝑙 × 𝑤) × (ℎ)
𝑉 = 𝑙𝑤ℎ

𝑉 = 𝑙𝑤ℎ
𝑉 = 3 × 3 × 3

𝑉 = 27𝑐𝑚ଷ

Volume

𝑉 = (𝑎𝑟𝑒𝑎 𝑜𝑓 𝑏𝑎𝑠𝑒) × (ℎ𝑒𝑖𝑔ℎ𝑡)
𝑉 = (𝑙 × 𝑤) × (ℎ)
𝑉 = 𝑙𝑤ℎ

𝑉 = 𝑙𝑤ℎ
𝑉 = 4 × 2 × 3

𝑉 = 24𝑐𝑚ଷ

Notice: the formula for the volume of a cube and a rectangular prism is just: 𝑉 = 𝑙𝑤ℎ.

3cm

𝐴௕ = 9 𝑐𝑚ଶ

𝑉 = (𝑎𝑟𝑒𝑎 𝑜𝑓 𝑏𝑎𝑠𝑒) × (ℎ𝑒𝑖𝑔ℎ𝑡)
𝑉 = (9) × (3)
𝑉 = 27 𝑐𝑚ଷ

If Area of Base Given
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